NR=ZATUAVS

{ RoHSiis i NEW |

COMPACT CYLINDER

SHEEEIVNI UV

(ERON)°
ERON)

No.E-1114

OXT BHE (0.8~25MPa) FyravUrs

[ [wEs
i 75y PCSA0160 < PCSA0221  PCSA0241 PCSA0301  PCSA0361  PCSA0451  PCSA0551
Z2hO0—73—R S M L:S M L:S M L:S M L:S M L:S:M L:S: M L
AO—7 mm| 6 :10:16: 6 :10:16: 8 :12:20: 8 :12:20:10:16:25:10:16:25:12:20: 32
JUVIHAEER) KN | F=(0.050xP)-0.024 : F=(0.113%P)-0.041 : F=(0.154xP)-0.060 : F=(0.254xP)-0.099 : F=(0.394xP)-0.150 : F=(0.707xP)-0.319 : F=(0.990xP)-0.452
TS EE cm? 0.5 1.1 1.5 2.5 39 7.1 9.9
JUITEE cm3|0.3:0.5:08:0.7:1.1:1.8:1.2:1.8 3.1: 2 :13.1.51:39:6.399:7.1:113177:11.9:198 317
JYU—Z\NZH] N | 12.5~23.5: 25.7~41.2 : 32.6~59.7 : 50.1~99.1 : 79.4~150 : 157~319 : 236~452
REEAESD MPa 25
RIE(EEIES] MPa 0.8
m £ MPa 375
ERRE C 0~70
BE kg 0.03:0.04:0.05:0.06:0.08:0.1:0.08:0.1:0.15:0.15:0.2:0.3:0.3:0.4:0.5:0.5:0.6:0.8:0.8:1.0.1.3
FEREE 1. VUVIHHEHER) DEESIE YUY I A KN) PEHEHEE (MPa) ZRUED,
| i EES
F=5-No. No. ity #=5—No. No. ity F=5—No. No. ity F—5—No. No. A&
114438 | PCSA0160-S (14,200 114441|PCSA0221-S|14,800 114444 |PCSA0241-5(15,700 114447|PCSA0301-S|18,300
114439 |PCSA0160-M|14,200 114442|PCSA0221-M|14,800 114445|PCSA0241-M|15,700 114448|PCSA0301-M|18,300
114440 PCSA0160-L (17,400 114443|PCSA0221-L {20,000 114446|PCSA0241-L 20,900 114449 PCSA0301-L (24,600
#=5-No. No. iy F=5—No. No. ity F=5—No. No. A&
114450 | PCSA0361-5 [20,000 114453| PCSA0451-S 24,000 114456|PCSA0551-S (28,600
114451 |PCSA0361-M|20,000 114454|PCSA0451-M|24,000 114457 |PCSA0551-M|28,600
114452 | PCSA0361-L {26,200 114455| PCSA0451-L 130,500 114458 PCSA0551-L |35,100
WA VA N -
_\ )
ﬁ s { oH N i
Q of § ﬁ
2 -4
L
N KA| J G H
p ANO-7 FA
X PCSA0160 @ PCSA0221 PCSA0241 PCSA0301 = PCSA0361 PCSA0451 = PCSA0551
AMO—73—K| S M L S ML S ML S ML S ML S ML S ML
AO—7 6 10:16: 6 :10:16: 8 :12:20: 8 :12:20 :10:16:25:10:16:25:12:20:32
A [FUOXEYF) | M16X1.5 M22x1.5 M24x1.5 M30x1.5 M36X%1.5 M45x1.5 M55x2
B 14.3 20.3 22.3 28.3 34.3 43.3 52.6
C 7.5 11.2 13 17 19 28 345
D 8 12 14 18 22.4 30 355
E 15.5 21.2 24.5 30 355 45 55
FA 35 41 50 :35 43 56 :395 47 635143552572 151 64 85:59: 72 :945: 64 795102
G 18.5:245:335: 13 : 21 : 34 1175: 25 :415: 18 : 27 :46.5:23.5:36.5:57.5: 23 : 36 :585: 27 :425: 65
H 6 8 8 9 10 12 12
J 5 7 7 8 8 12 12
KA 55 7 7 8.5 9.5 12 13
L 4 55 55 7 8 10 11
MA [FOXES) | M5X0.8X8 = M6X1.0X7 = M6X1.0X7 M8X1.25X10 M8X1.25X10 M10X1.5X11 M12X1.75%X12
N 7 10 10 14 17 24 30
P 14 19 22 27 32 41 50
ouvz 18P9 Py ey Poeey  Doeey | 18315 18P39

http://www.nabeya.co.jp



	F214J_0290

